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51. What is the minimum age qualification to contest the Lok Sabha elections in India?

a. 18 Years b. 21 Years c. 25 Years : d. 35 Years
52. Which committee recommended the establishment of the Reserve Bank of India?
a. Hilton Young Commission b. Butler Commission
c. Hilton Brown Committee d. Dutt Committee
53. Which of the following defines the term ‘Petrodollar'?
a. Oil Revenues b. Currency c. Petrochemical d. Oil Reserves
54. Who did Gautam Gambhir replace as the head coach of the senior men’s cricket team?
a. Ravi Shastri b. Rahul Dravid c. Anil Kumble d. Kapil Dev
55. In which state of Rajasthan, Ford of Aamer is situated?
a. Jaisalmer b. Tonk c. Baran d. Jaipur
56. Which company launched the world’s first CNG motorcycle ‘The Freedom’?
a. Hero MotoCrop b. Honda Scooter c. TVS Motor d. Bajaj Auto Ltd
57. Who won the women's snooker title in the Asian championship in Riyad, Saudi Arabia?
a. Vidya Pillai b. Anupama Ramachandran
c. Chitra Magimairaj d. Amee Kamani
58. Who is the author of the book ‘India Wins Freedom'?
a. Jawahar Lal Nehru b. Sardar Vallabhbhai Patel
c. Maulana Abul Kalam Azad d. Dr. B.R. Ambedkar
59. Which of the following is the state animal of Odisha?
a. Bengal Tiger b. Gaur _ c. Sambar Deer d. Phayre’s Langur
60. When was GST introduced in India? o
a. 2012 b. 2014 c. 2016 d. 2017
61. Who initiated the Ahmadiyya Movement?
a. Mirza Ghulam Ahmed b. Sir Syed Ahmed Khan
c¢. Shah Waliullah d. Abdul Ghaffar Khan
62. MAITREE is a joint military exercise involving India and which nation?
a. lran . b. Thailand c. Bangladesh d. Myanmar
63. What is the primary species of focus at the Jatayu Conservation and Breeding Centre?
a. White — Backed Vultures b. Himalayan Griffon Vultures
c. Asian King or Red headed Vultures d. Cinereous Vultures
64. Who founded the journal ‘Tahzib — ul — Akhlaq?
a. Swami Vivekanand b. Ram Mohan Roy
c. Maulana Abul Kalam Azad d. Sir Syed Ahmed Khan
65. Which chess piece moves diagonally?
a. Rook b. Knight c. Pawn " d. Bishop

Directions (66 — 70): Based on the information given below, answer the following questions:
An Art exhibition is being organised in Delhi. 5 different states will represent their art in the
exhibition during six days of a week, starting Monday and ending on Saturday. One of these

days shall be a rest day.
e The five participating states include — Uttar Pradesh, Haryana, Punjab, Bihar and Gujarat

« Only one state can put up their exhibition per day

e
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« The rest day is between the days when Uttar Pradesh and Guijarat exhibit their art

» Punjab will put up their artwork right before Bihar

« Thereis a gap of 2 days between Gujarat and Punjab’s exhibition. Gujarat organised the
exhibition before Punjab ‘

- Haryana does not organise the exhibition on Saturday

Which is the rest day? :

a. Monday b. Wednesday c. Friday d. Saturday

When does Haryana put up their exhibition?

a. Monday b. Wednesday c. Friday d. Saturday
The exhibition of which state is organised on Thursday?

a. Bihar b. Punjab c. Uttar Pradesh d. Haryana

Which of the following combinations is correct?

a. Friday — Punjab b. Tuesday — Bihar  c. Saturday — UP d. Monday is resting day
Which state’s exhibition is organised on Saturday? '

a. Punjab b. Haryana c. Gujrat d. Bihar

In a party, 60% of the invited guests are male and 40% are female. If 80% of the invited guests
attended the party and if all the invited female guests attended, what would be the ratio of
males to females among the attendees in the party?

a.2:3 b.3:2 c.1:1 d.2:1
(1015)2 =7 '

a. 1025125 b. 1020225 c. 1040225 d. 1030225
Largest five-digit number exactly divisible by 39 is:

a. 99979 b. 99996 c. 99956 d. 99989
Choose the missing number in the series: 9, 7, 12, 12, 15, 17, 18, 22, ?

a. 27 b. 21 c. 22 d. 24

Sum of the age of 4 children born at interval of 4 years is 36. What is the age of youngest
child?

a. 3 years b. 4 years c. 5 years d. 2 years

Rehana drives 6 km west from her home and turns left and drives 3 km and then turns left
again and drives 10 km. What is the shortest distance between her home and her destination?

a. 4 km b. 9 km c. 5km d. 7 km

Tina is to the 75 m south east of veena. Rina is to the 75m south west of veena. Tina is to the
of Rina?

a. West b. East c. North d. South

P is the sister of Q and mother of R. S is the daughter-in-law of W and wife of Q. W's grandson
M is the nephew of P and brother of V. W has only two children. How is Q related to V?

a. Father b. Uncle c. Son d. Brother

Shraddha says to Sharayu, "Your mother-in-law is my father's mother who is the eldest son,
but your husband is not my father." How is Sharayu related to Shraddha?

a. Aunt b. Niece c. Mother d. Daughter

Three of the following four number pairs are alike in a certain way and one is different. Find the

odd one out? @
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a. WUSQ b. HFDB c. KIGE d. TROM
. In a certain code language ‘DEAR’ is coded as ‘7465’ and ‘LIFE’ is coded as ‘8394’. Then how
will IDEAL’ be coded in the same code language?
a. 73648 b. 37684 c. 37468 d. 84673
In a code language, MACHINE is written as CAMHENI. How will MONSTER be written as in

that language?
a. OMNSETR b. NOMETSR c. SNOMRET d. NOMSRET

Select the word-pair in which the two words are related in the same way as are the two words
in the given word-pair. Wish : Desire?

a. Run : Ride b. Cool : Cold c. Drive : Speed d. Morning : Evening

If it was a Friday on 1 January 2016, what was the day of the week on 31 December 20167
a. Saturday b. Friday c. Sunday d. Monday

In a certain code language '+ 'means ‘-’ , ‘=’ means ‘ x *, x ' means ‘ + L+’ 'means‘+’,

Answer the following questions using the data.
14x2-6+10+4x2

a. 40 b. 1 c. 16 d. 30

A word processor would most likely be used to do which of the following?

a. keep an account to money spent b. maintain an inventory

c. type a biography d. None of these

A saved document is referred to as a . »
a. Project b. Folder c. File d. Word

What does Ctrl + B shortcut accomplish in Ms-Word?

a. It makes the selected text bold

b. It converts selected text into the next larger size of the same font

c. It adds a line break to the document

d. It applies Italic formatting the selected text

Changing an existing document is called the document?

a. creating b. editing ¢. modifying d. adjusting
What is the minimum number of rows and columns that a word table can have?

a. Zero b. 1 row, 1 column c. 2rows, 1 column d. 2 rows, 2 column
Text and graphics that have been cut or copied are stored in an area called the

a. Pasteboard b. Copyboard . ¢. Cuttingboard d. Clipboard

When creating a word-processed document, this step involves the user changing how words
on the page appear, both on the screen and in printed form. What is it?

a. Editing text - b. Inserting tables c. Formatting text d. Print Preview
Microsoft Office is

a. An application suite ' b. Open-source software

c. Public-domain software d. Shareware

To save an existing file with a new name or to a new location, you should use the

command.
a. Save b. Save and replace c. Save as d. New File

®
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95. Which view in PowerPoint can be used to enter speaker comments?
a. Normal b. Notes page view c. Slide show d. Slide Sorter
96. PowerPoint can display data from which of the following add-in software of MS-Office?
a. Organization chart b. Equation editor ¢. Photo album d. All of these
97. The best way to insert a new slide in a presentation is to use the .
a. Normal view b. Special view c. Slide show view d. Slide sorter view
98. Which of the following is NOT a feature of PowerPoint?
a. Printing transparencies
b. Linking a slide transition with a laser pointer
c. Drawing with a pen
d. Printing the speaker's notes along with slide images
99. Which key on the keyboard can be used to view slide show?

a. F1 b. F2 c. F5 d. F10
100. Ellipse Motion in PowerPoint is a predefined .
a. Design template  b. Animation scheme c¢. Color scheme d. All of these
101. We can rep!aée a font on all slides with another font using the option.
a. Format, Replace Fonts b. Tools, Replace Fonts
c. Edit, Fonts d. All of these
102. Which of the following refers to the rectangular area for displaying information and running
programs? '
a. Windows b. Desktop c. Menu d. Dialog Box

103. Press to move the insertion point to the Address box, or to highlight the URL in
the Address box.

a.SHIFT+TAB - b.ALT+A c.ALT +D d. TAB + CTRL
104. To make the number pad act as directional arrows, you press the key.
a. shift b. arrow lock c. caps lock d. num lock
105. may be included in other folder while making hierarchical structural folder.
a. Main folder b. Tiered folder c. Sub —folder d. Object
106. are graphical objects used to represent commonly used application.
a. lcons b. GUI ‘ c. Drivers d. Windows

107. If you do not want to select any option after opening a menu then click menu title again or
press key to close the menu.

a. Shift b. Escape c. Tab d.F1
108. In an information system, alphanumeric data normally takes the form of

a. Sentences and paragraphs b. Graphic shapes and figures

¢. Human voice and other sounds d. Numbers and alphabetical characters
109. The settings are automatic and standard.

a. default b. CPU c. peripheral d. user — friendly

110. The piece of hardware that converts computer's digital signal to an analogue signal that can

travel over telephone lines is called a ;
a. red wire b. blue cord c. modem d. Tower

©




111. A program, either talk or music, that is made available in digital format for automatic
download over the Internet is called a

a. wiki b. podcast c. broadcast d. vodcast
112. Digital Banking can be resorted through . i
a. Mobile Phones b. Internet c._Telephones d. All of these

113. The enables you to simultaneously keep multiple Web pages open in one
browser window.

a. tab box b. pop — up helper c. tab row d. All of these
114. Which folder retains copies of messages have started but are not yet ready to send?
a. outbox b. drafts c. address d. sent items

115. search engine sends request for information to several search engines
simultaneously and compiles the results.

a. Meta b. Individual c. Directory d. All of these
116. You can protect sensitive data from prying eyes using .
a. Passwords b. Encryption c. File locks d. None of these
117. What is A hacker, that contacts your phone or E-mails and attempts to acquire your password
is called?
a. phishihg b. spoofing C. spamming d. bugging
- 118. Trend Micro’ is a ; :
a. virus program - b. just a program c. anti-virus software d. All of these
119. The phrase ___ describes viruses, worms, trojan horse attack applets and attack scripts.
a. Virus - b. Spam c. Phishing d. Malware -
120. When you insert an Excel file into a Word document, the data are .
a. Hyperlinked b. Linked ¢. Embedded d. Placed in a word table
121. Were you a bird, you in the sky.
a. shall fly b. would fly c. should fly d. Any of these

Directions (122 — 124): Choose the most appropriate word from the options given below to

complete the sentence:
122. lf you are trying to make a strong impression on your audience, you cannot do so by being

understated tentative or

a. Restrained b. Hyperbolic c. Argumentative d. Indifferent
123. If we manage to our natural resources, we would leave a better planet for our children.
a. uphold b. cherish C. conserve d. spend

124. He could not understand the judges awarding her the first prize, because he thought that her
performance was quite

a. Superb b. Medium c. Mediocre d. Exhilarating
125. Match the columns.
Column 1 Column 2
1) eradicate P) misrepresent
2) distort Q) soak completely
3) saturate R) use
4) utilize S) destroy utterly

®



a. 1:P, 2:Q, 3:R, 4:S b. 1:Q, 2R, 3:S, 4:P

c. 1:S, 2:P, 3R, 4:Q d. 1:§, 2:P, 3:Q, 4.R
126. Which of the following options is the closest in meaning to the sentence below'? ‘

She enjoyed herself imnmensely at the party.

a. She had a terrible time at the party b. She had a terrific time at the party

c. She had a horrible time at the party d. She had a terrifying time at the party
127. (I) While trying to collect (lI) an envelope from under the table, (1) Mr. X fell down

(IV) and was losing consciousness.

Which one of the above underlined parts of the sentence is NOT appropriate?

a. l b. 1l c. i d. Iv
128. Choose the correct antonym for given word: ‘Enigma’
a. Clarity b. Mystery c. Charade d. Make - believe
129. Choose the correct antonym for given word: ‘Formidable’
a. Trivial b. Dangerous c. Scary d. Appalling
130. Correct the sentence, if required: ‘Every year, our association is having a meeting to elect the
officers.’
a. are having a meeting b. having a meeting
c. has a meeting d. No substitution required
131. Correct the sentence, if required: ‘He had barely spoken the words when he realised his
mistake.’
a. barely speak the words that b. barely spoke the words when
c. barely spoken the words than d. No substitution required
132. Select the correctly spelt word.
a. Reciept b. Receipt c. Reciet d. Reiceit
133. Select the wrongly spelt word. : '
- a. whimsical b. contiguous c. spectaculer d. adjacent

Directions (134 — 136): Choose the most appropriate word from the optlons given below that is
most suitable to substitute the sentence.
134. ‘An imaginary ideal somety

a. Ultimate b. Utopia c. Flawless d. Model
135. ‘Using right and left hand equally well’

a. Unskilied b. Left-handed c. Inexpert d. Ambidextrous
136. ‘An instrument for measuring the atmospheric pressure’

a. Barometer b. Ammeter c. Thermometer d. Altimeter

137. Fill in the blank with proper idiom: ‘When you it is best to be patient and have faith in

your inner strength.’

a. remain on high alert b. keep someone at an arm's length

c. calls a spade a spade d. find yourself in troubled waters
138. The air-conditioner has made ceiling fans a little in today's world.

a. extinct b. absurd c. obsolete d. None of these
139. The police used tear gas to the crowd.

a. disburse b. disperse c. collect : d. None of these



140. A of small stones is called a mosaic.

a. design b. pattern c..structure d. mound
Directions (141 — 145): Read the passage and choose the correct option for the questions that
follows:

Speech is a great blessing but it can also be great curse, for while it helps us to make our
intensions and desires known to our fellows, it can also if we use it carelessly, make our
attitude completely misunderstood. A slip of the tongue, the use of unusual word, or of an
ambiguous word, and so on, may create an enemy where we had hoped to win a friend. Again,
different classes of people use different vocabularies, and the ordinary speech of an educated
may strike an uneducated listener as pompous. Unwittingly, we may use a word which bears a
different meaning to our listener from what it does to men of our own class. Thus, speech is
not a gift to use lightly without thought, but one which demands careful handling. Only a fool
will express himself alike to all kinds and conditions to men.

141. The best way to win a friend is to avoid _
a. ambiguity in speech b. irony in speech  c. verbosity in speech  d. None of these

142. While talking to an uneducated person,' we should use

a. polite language b. normal speech c. his vocabulary d. None of these
143. If one used the same style of language with everyone, one would sound
a. flat b. democratic c. indifferent d. foolish
144. A ‘slip of the tongue’ means something said
a. without giving proper thought b. wrongly by choice
c. to hurt another person d. None of these
145. Speech can be curse, because it can
a. create misunderstanding b. hurt others
c. lead to carelessness d. reveal our intentions
146. What is the ‘ for an air letter? ;
a. fare b. postage c. value : d. stamp
147. He in wearing the old — fashioned coat in spite of his wife's disapproval.
a. desists b. resists c..persists d. None of these
148. He is too dull ‘ this problem. '
a. solving b. to solving c. to solve d. solves
149. Soft minded individuals are to embrace all kinds superstitions.
a. eager b. disposed ' c. reluctant d. prone
150. After the accident, the nerves to her arm were damaged and so the muscles __ through
disuse. .
a. contracted b. atrophied c. elongated d. dwindled

©



